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//7y6 js encode:

//RIGEAE A, AT LA

var zy6 BLOCK SIZE = (384) / 8;

var m_zy64 = new Array(63, 0, 34, 17, 58, 23, 16, 2, 59, 55, 56, 7, 47, 61, 8, 4,
38, 25, 48, 3, 37, 41, 1, 32, 39, 57, 33, 30, 18, 45, 14, 28, 15, 60, 5, 40, 43,
53, 10, 20, 49, 35, 62, 31, 6, 24, 22, 26, 46, 29, 36, 9, 11, 52, 44, 13, 27, 54,
19, 50, 51, 12, 42, 21);

//HIEEA ;
function init sy(zy st) {
zy st = new Object();
zy st.m tot len = 0;
zy st.m len = 0;
zy_st.m zy c 64 = new Array(64) :
zy_st.m block = new Array (2 * zy6 BLOCK SIZE):
zy_st.m zy p = new Array(64) :
for (var i = 0; i < 64; i++) {
zy st.m zy c 64[i] = m zy64[i];

}

return zy_st;
}
[/ E R FR R

function memepy (s, k, d, m, i) {
for (var j = 0; j < i; j+H) {
slj + k] =dlj + ml;
}

/B char “F4F3] 6 bit [FFHE;
function To64(c, d) {
for (var i = 0; i < zy6 BLOCK SIZE; i++) {
if (typeof cli] == "string’ ) {
c[i] = c[i]. charCodeAt (0) ;
}

for (var i = 0; i < zy6 BLOCK SIZE/3; i++) {
var t = 1 * 4;
var m = 1 * 3;
dlt] = c¢lm] >> 2;
dit + 1] = ((cIm] & 0x3) << 4) + (clm + 1] >> 4);

dlt + 2] = ((c[m + 1] & 0xf) << 2) + (c[m + 2] >> 6):
dlt + 3] = c[m + 2] & 0x3f;
}
return d;
}
function update( z st, message, len);

{
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var block nb

var new len, rem len, tmp len

tmp len = zy6 BLOCK SIZE — z st.m len
rem len = len < tmp len ? len : tmp len

memcpy (z st.m block, z st.m len, message, 0, rem len)
if (z st.m len + len < zy6 BLOCK SIZE) {
z st.m len += len;
return;
}
new len = len — rem len
block nb = parselnt (new len / zy6 BLOCK SIZE)
var shifted message = new Array(len — rem len)
memcpy (shifted message, 0, message, rem len, len-rem len)
transform(z_st,z st.m block, 1)
transform(z_st, shifted message, block nb)
rem len = new len % zy6 BLOCK SIZE

memcpy (z_st.m block, 0, shifted message, block nb * zy6 BLOCK SIZE, rem len)
z st.m len = rem len
z st.m tot len += (block nb + 1) * zy6 BLOCK SIZE
I
function final( z st);
{
var block nb
var pm len
block nb = (1 + ((zy6 BLOCK SIZE — 9) < (z st.m len % zy6 BLOCK SIZE)))
pm len = block nb * zy6 BLOCK SIZE

for (var i = z st.m len; i < zy6 BLOCK SIZE * 2: i++)
{
z st.m block[i] = 0
}
z st.m block[z st.m len] = 0x80
transform(z_st, z st.m block, block nb)
var pt = 0

for (var i = 0; i < 64; i++) {
7z st.m zy ¢ 64[pt] = (z st.m zy ¢ 64[i] + z st.m zy c 64[pt]) % 64;
pt = m zy64[pt];
7z st.m zy ¢ 64[pt] = (z st.m zy c 64[i] + z st.m zy c 64[pt]) % 64;
pt = m zy64[pt];
7z st.m zy ¢ 64[pt] = (z st.m zy ¢ 64[i] + z st.m zy c 64[pt]) % 64;
pt = m zy64[pt];
7z st.m zy ¢ 64[pt] = (z st.m zy ¢ 64[i] + z st.m zy c 64[pt]) % 64;
pt = m zy64[pt]:
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}
&

function transform(z st, message, block nb);

{

var
var
var
for

|
/)R

sub_block = new Array (96)
pt =0
i
(i =0; i < block nb; i++) {
memcpy (sub block, 0, message, i * zy6 BLOCK SIZE, zy6 BLOCK SIZE);
var d = new Array (4%zy6 BLOCK SIZE/3);
/K 64
To64 (sub_block, d):
for (var ti = 0; ti < (zy6 BLOCK SIZE * 4) / 3; tit++) {
if (d[ti] > 0) {

pt = ti;

{

+

7z st.m zy ¢ 64[pt] = (z st.m zy c 64[pt] + d[ti]) % 64
pt = m zy64[pt]
z st.m zy ¢ 64[pt] = (z st.m zy c 64[pt]
pt = m zy64[pt]
z st.m zy ¢ 64[pt] = (z st.m zy c 64[pt]
pt = m zy64[pt]
7z st.m zy c 64[pt] = (z st.m zy c 64[pt]

+

dlti]l) % 64

+

dlti]l) % 64

+

dlti]) % 64
}i

pt = d[til;

{

+

7z st.m zy ¢ 64[pt] = (z st.m zy c 64[pt] + m zy64[pt]) % 64
pt = m zy64[pt]
7z st.m zy c 64[pt] = (z st.m zy c 64[pt]
pt = m zy64[pt]
7z st.m zy c 64[pt] = (z st.m zy c 64[pt]
pt = m zy64[pt]
z st.m zy ¢ 64[pt] = (z st.m zy c 64[pt]

+

m zy64[pt]) % 64

+

m zy64[pt]) % 64

+

m zy64[pt]) % 64

function Tostring64(m zy6 st) {

var letters =
" 0123456789abcdefghi jklmnopgrstuvwxyzABCDEFGHI JKLMNOPQRSTUVWXYZ=-"";
var ss =
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for (var i = 0; i < 64; i++) {
ss += letters[m zy6 st.m zy c 64[i]];
}

return ss;

}
function Tostring64HEX (m zy6 st) {

var j = 0;
for (var i = 0; i <64 / 4; i =1+ 1) {
m zy6 st.m zy plj * 3] = (m zy6 st.m zy c 64[1 * 4] << 2) +
(m zy6 st.m zy c 64[i * 4 + 1] >> 4);
m zy6 st.m zy p[j * 3 + 1] = ((m zy6 st.m zy c 64[i * 4 + 1] & Oxf) << 4)
+ (m zy6 st.m zy c 64[i * 4 + 2] >> 2);
m zy6 st.m zy plj * 3 + 2] = ((m zy6 st.m zy ¢ 64[1i * 4 + 2] & 0x3) << 6)
+m zy6 st.m zy c 64[1 * 4 + 3];
j=J+1;
}

var letters = ’0123456789abcdef’ ;

var ss =

for (var i = 0; i < 48; i++) {
var ¢ = m zy6 st.m zy plil;
ss += letters[(c >> 4) & 0xf];
ss += letters[c & 0xf];

}

return ss;

}

function Tostring64BG(m zy6 st) {

var letters =res

)).

var ss =
for (var i = 0; i < 64; i++) {

ss += letters[m zy6 st.m zy p 64[i]];
}

return ss;

}

String. prototype. replaceAll = function (sl, s2) {
return this. replace(new RegExp(sl, ’gm’ ), s2);
}
/) B E A AN UTES Zmit (1) - 715
var writeUTF = function (String, isGetBytes) {
var back = [];
var byteSize = 0;
for (var i = 0; i < String. length; i++) {
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var code = String. charCodeAt (i) ;
if (0x00 <= code && code <= 0x7f) {
byteSize += 1;
back. push (code) ;
} else if (0x80 <= code && code <= 0x7ff) {
byteSize += 2;
back. push ((192 | (31 & (code >> 6)))):
back. push ((128 | (63 & code)));
} else if ((0x800 <= code && code <= 0xd7ff);
|1 (0xe000 <= code && code <= Oxffff) {
byteSize += 3;
back. push((224 | (15 & (code >> 12))));
back. push ((128 | (63 & (code >> 6)))):
back. push ((128 | (63 & code)));
}

for (i = 0; i < back. length; i++) {
back[i] &= Oxff;
}
if (isGetBytes) {
return back;
}
if (byteSize <= 0xff) {
return [0, byteSize]. concat (back) :
} else {
return [byteSize >> 8, byteSize & 0xff]. concat (back) ;
}

function updatestr(m zy6 st, String) {

var gstr = writeUTF(str, 1) ;
return update(m zy6 st, gstr, gstr.length):

function Zy6String(ss) {

var zy st = new Object();
zy st = init sy(zy st);
updatestr(zy st, ss);:
final (zy st):

return Tostring64(zy st);

function Zy6StringHEX (ss) {

var zy st = new Object();

zy st = init sy(zy st);
updatestr(zy st, ss);:
final (zy st):

return Tostring64HEX (zy st) ;
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function zy6() {
var ss = document. getElementById(’ ss’). value;
var dd = document. getElementById(’ dd’ ) ;

var zy st = new Object();

zy st = init sy(zy st):

updatestr(zy st, ss);:

final (zy st);

}

dd. value = Zy6String(ss);
}

function zy6HEX() {
var ss = document. getElementById(’ ss’). value;
var dd = document. getElementById (" ddHEX ) ;
var zy st = new Object();
zy st = init sy(zy st):
updatestr(zy st, ss);:
final (zy st):
dd. value = Zy6StringHEX (ss) ;

}
UL html YA
<I!DOCTYPE html>
<html>
<head>

<titled VRGBT B HUE BIE/ titled

<meta http—equiv="Content-Type” content="text/html; charset=UTF-8" />

<{meta name="keywords” content="3ET BAFEHI W B VL, hash Bk, 54
EET />

<meta name="author” content=" el ERIH AR AR, TrMVedER R AR A
"7 />

<meta name="description” content="J& T E/FEA HIVH B E HIEM A S, HESH
SR, X AT AR BT R, TERA R SRR, N R R AT TR A B AR A
MR, HEMEHER G REL TR R . AR T REENE S RGE, HES
HEEWATINELE, FREENGERATHE, 7 /S

<{meta http—equiv="Content-Type” content="text/html; charset=UTF-8" />

{link href="style.css” rel="stylesheet” type="text/css” />

{script type="text/javascript” src="js/cufon-yui. js”></script>

<{meta charset="utf-8" />

{script src="zybn. js”></script>
</head>
<body>

{div class="main”>

{div class="header”>
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{div class="header resize”>
{div class="1logo”>
<h1><a href="index. html”>Newa<span>Soft<label
style="color:greenyellow;vertical-align:super;font-
size:smaller”>®{/label></span></a></h1>
</div> {div class="nav_menu”>
<ul>
<li><a href="index. html”>EHi</a><{/1i>
{li><a href="product. html”>/=f</a></1i>
<{li><a href="download. html”> F#;</a></1i>
<li><a href="support. html”>JeldExH</a></1i>
<li><a href="about. html” >R T FHA1</a></1i>
<1i class="active”><a href="flcode. html” > VEE R~

<Sa></1i>
<li><a href="contact. html”>EL &ZFA1</a></1i>
<Sul>
</div>
{div class="clr”><{/div>
</div>
</div>

{div class="hbg”>
{div class="hbg resize”>
{img src="images/search. png” width="500" height="275" alt="pix”
class="hbgimg” />
<h2>BRARHI SR R </h2>
<h3> B EFIRPRUELE, 345 2 TiE 58 B A</h3>
<a href="flcode. html” >4} B 5%k /a><br />
<a href="imgflcode. html” > F & B/ B H < /a><br />
<a href="zy6. html”>zy6 JH§ B4 EH </ a>
</div>
</div>

{div class="content”>
{div class="content resize”>
{div class="mainbar”>
{div class="article”>
{div class="container”>

EINYF: <{input type="text” style="width:800px”
id="ss” /><br />

Iahg4E . {dnput type="text” style="width:800px”
id="dd” /><br />

InidgE B (HEX) : <input type="text”
style="width:800px” id="ddHEX” /><br />
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{input type="button” id="ss” value="zy6 H{%”
onclick="javascript:zy6(:” />
{input type="button” id="ssHEX” onclick="javascript:
zy6HEX () ;7 value="zy6 (%] HEX” />
</div>
</div>

</divy

</div>
</div>
{div class="clr”></div>

{div class="fbg”>
{div class="fbg resize”>
{div class="col cl1”>

{div class="clr”><{/div>
<h2> R R A</ h2>
<p>
{strong>Hiif:<{/strong> (86) 021-54261835<br />
{strong>itik: </strong> FHFTH XAT X JLILEE 5500 555 1 i
2597 %= <br />
{strong> ik : </strong>VL753 4 73 M KT T3 AR % 66 5 519 =
<br />
{strong>Email:</strong> <a
href="mailto:zhangliuxue@l126. com”>zhangliuxue@126. com</a><br />
</p>
</div>
<div class="col c2”>
<h2>BER A </h2>
HARBANNHE B E T EM RS, 0l Y R AT AR A A B4 25
BT EG A k T RASEE k R DL 2 1) k K05 bit ITH B4

W
ABIREIREIN 6 A15r 203k 64 HFEEL, TidA zy6.
</div>
<div class="col ¢3”>
<h2>Hf pi</h2>
{div id="transText”>
ZHRF 5 64 MR gw i, 456 8 EARER AR L,
MR 0 B 63 X, HANEAENTT AT 027, {964,
8 %,
B 45 S5 0] 2 1) 384 1K TT »
</div>
{div class="clr”><{/div>
</div>
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</div>

{div class="footer”>
{div class="footer resize”>
<p class="1f">
&copy; FiFREEGERE AR AR <br />
<a style="color:green” href="https://beian.miit. gov.cn”
target="_new”>
I ICP #% 13005075 S&nbsp; &nbsp; &nbsp; I* ICP 4%
13005075 52
/a>
{span><img src="/img/gongan. png” />NEET:
31011202011025</span>
<ul class="fmenu”>
<1i class="active”><a href="index. html”>F J1<{/a></1i>
{li><a href="product. html”>/=f</a></1i>
<li><a href="download. html”> F#<{/a><{/1i>
<li><a href="support. html”>JeldEKH-</a></1i>
<li><a href="flcode. html”>HEHEH /R /a><{/1i>
<{li><a href="about. html”>FFFHA1</a></1i>
<li><a href="contact. html”>EL &FA1</a></1i>
<Sul>
</p>
</div>
</div>
</div>
</div>

</body>
</html>
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